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l. Find the general solution of the following equation:

yHY +1=0 . am

2. Find the directional derivative of the function J =€ cosy at

the position (2, @, 0) in the direction & = 27 + 3k, (10%)

3. Evaluate
(3.-2.-1)

I= (vzdx +xzdy +xpdz) (o

(L14)

= dx —ax —bx
1. Comute S (a,0)= | e am
p. Evaluate the following integral by coatour integration

] = Jh d0

* Treoso © W

6. Find the inverse matrix of the symmetric matrix C which
satisfies the equation Q= X7 C X, where X" = (x x, x,) and

Q=x} +2xx, +3x] +6x,x, +2x3 . (15%)

7. Using laplace transfurm to solve the equation

Y +Y =t where y(0)=0, y(©)=1, and y'(0)=0.
(15%)

§. Find the Fourier series expansion of the periodic function f(x)
with period 2x, where f(x)=0Q for —m<x<0 and
f{x)=sin{x) jfor O<x<mx. From the resuit find the sum

1 1 1 1 1

S= b o e (15%)
13 35 57 7.9 9.1




